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A X AIE A
. U= E X&ole 223X =4
ol QR EARN 2RYne (=CR-E
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
OdtHEE = 460,368,000 *6/1,000 2,763
Oongsgss 460,368,000& *15/1,000 6,906
OAHnLeBE = 460,368,000%18.15/1,000 8,356
OYEsE= 8,355,600 *4.05/100 339
201 Et24 | 424,613 406,129 18,484
01 AFE22elbl 4,748 3,044 1,704
oM 5,000& x50 12 3,000
O&%D| dE= 52,000%x2CH*x12& 1,248
o=J ¥ Jt2J7 7¢ 10, 000& =501 500
02 s=2494l 419,865 403,085 16,780
oRER2 1,263
Os9l 1,720& x20E * 122 413
OBsE 340& x2,500= 850
OSSR AERZ 5,000,000& x12& 60,000
OFdEIH ¥ MRS 1,500,000& *12& 18,000
OMYI| =H =2 1502 *8,000kg* 12 14,400
O A= 288, 000& *5JH A~ 1,440
OuWlF2Jl HA=H| 200,000& x4& 800
OFI|HM 22| X =42
1,025,000& x12& 12,300
OCCTV & LEDE & T 2 K22l
600,000& x12& 7,200
O2LEXe =42 412,920 *33] 1,239
OL=&EAHAN =2 150,000& 13| *12& 1,800
OggAE=E 2E =& 23,884
OIIEXE 2L =2 22,0003 12& 264
ONZEINE =42 400,000& =128 4,800
OBJIIIIXAM &5 10,000
OEZAANAE RIEF+Z
50,000 x10CH*12& 6,000
OLEH EHAIAE RAE2x2
200,000& x12& 2,400
OREIIEHTD| =2 20,000 12& 240
OIIAEAMNEE=E 30,000 3 A~ %23 180
OE&8= 4,680
O0EX B8 = 3,500,000& *13] 3,500
OO0IEX B8 = 80,000& »1CH 80
OXNsx B8 = 550, 000& *2CH 1,100
(OrSPIRTE=] 19,500,000& *12& 234,000
O Xt Xl 10,059
(OFENS=-1=3-1 3,349,000 = 1CH 3,349
o482 2,605,000 =2CH 5,210
OO0IE Xt 500, 000& *3CH 1,500
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fA 2 X AE A
M A5 E Kol 22X 24
ool g TRl 2Ry (=BT
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OBQtAIAE EAZ(1600L)
150,000& « 1600 2=+ 123 28,800
206 M=l 7,500 3,000 4,500
01 M=z bl 7,500 3,000 4,500
OL=H2&E 2E=E 4
300,000 x5&+52] 7,500
301 et ag 5,400 5,400 0
10 HALAHIZ &3 3,000 3,000 0
OAMIIEHM ¥ S22 UHASA 4 2oz
20,000 x5H +302! 3,000
12 JIEtEA S 2,400 2,400 0
ogu2& 3| 200,000 x1H «12& 2,400
SHEBBA ALS 2% L 22 1,108,836 997,648 111,188
2dzel 459,378 415,775 43,603
oI24d| 71,923 67,320 4,603
JIZHZ22NSEs 71,923 67,320 4,603
O=FH2 2te| ¢RY 28,768
oy 34,9103 x2H 249 17,386
OFg2f =¥ 34,9103 *150%*2H x64 L 6,703
ORs5g=+H 34,910 x2H «522 3,631
(@) %PNES=; 34,9102 x2H 152 1,048
OFZa0a 22 14,385
oy 34,9103 »1H »240& 8,693
OFg2f=d 34,910%150% 1 x64 3,352
OrRs5g=+H 34,9102 »1H +522 1,816
Odxt==¢ 34,9102 x1H + 152 524
O=&HMAIZ 2te| 912 14,385
ooy 34,9103 »1H +249 8,693
Osg2Rsdg 34,9103 *150%* 1Z 64 L 3,352
ORrRs5g=H 34,9103 x1H x52 1,816
Oext=¢ 34,9102 x1H +152 524
OZEICIof2 22| A 14,385
ooy 34,9103 »1H +249< 8,693
Osg2R=g 34,9103 *150%* 1Z 64 3,352
O = = 34,9103 x1H 52 1,816
(@JuPNE=, 34,9103 x1Z 15 524
201 et 34,680 33,480 1,200
01 AtS22iHl 6,000 4,800 1,200
O&AIZ2Y 2572 300,000 *109H & +23] 6,000
02 =234l 28,680 28,680 0
0527 2el 49| 200,000& *8IH A+ 12 19,200
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SN BEIALA
HM: ABE N@ols 22X E4
Ol LS EBBI LS 29 L 2 (oA
= = ol (5 - T &EIE =
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 Hos
OZAI| HIIZA 248  120,0002 8l A 960
OHAMHFMAIZ HASS 500,008 +122 6,000
OFRIT Wwat2el 248 210,0002! * 122 2,520
206 THEH 60,090 58,890 1,200
IVER] 60,090 58,890 1,200
OHANN =0I7Y 300,0002! + 122 3,600
ODLP PROJECTRI el 800,000 *12CH*15| 9,600
oYPEY 7l 5,000 2000} * 122 12,000
0OS+ZE 2 17,320
OELLIPSOID LIGHT(400AI2t JI &)
50,0002 x5} *93] 2,250
OSPOT LIGHT(200A12F J1 %)
45,0002 *24 ) 73] 7,560
OSTROBE LIGHT(6)HE I &)
150, 000! *6JH x25] 1,800
OF00T LIGHT(1,000A12t JIZ)
15,0008 * 184 x43] 1,080
OLOW HORIZONTAL LIGHT(1,000A12¢ JIZ)
10,0001 ¥96H +35] 2,880
OEFFECT MACHINE 7,0002 %2504 1,750
040 & o1yl 7,0002x2007H 1,400
oM 2YSE(UE) 8,470
OSYUR0IE #T 517,0002 x2J} x23] 2,068
OI} 2t0IE I (250W) 44,0002 *120H*23] 1,056
OI} 2t0IE I (575H) 82,5008 *4JH*23] 660
O A0S 2HOIE HE 77,0002 x4 *23| 616
OAERY 210|E BT 3850002 *1J*23| 770
OLCDE 2 HE YT 825,000l *2J x25] 3,300
OXGIAl +X2 2H2E 72
15,0002 55 *43| 300
OZEIDICIONE 2YSE 7,400
OZEIMA o =g 900, 0002 *23 1,800
OLCDEZME Yo 700, 00021 x4JH x2CH 5,600
307 21240/ 21,000 21,000 0
05 QI2teIEera 21,000 21,000 0
OFANB HA S 15,000,0002 *13] 15,000
OXISAIB S SR AS 5,000,002 %13 5,000
FHD g 29 200,0002! +53] 1,000
401 N EHIL20H] 271,685 235,085 36,600
01 Al 271,685 235,085 36,600
OZZFJ| ZH RHMEY 15,5002 %35)H*23] 8,085
O4D FAT SHHI(RT 21Ty 4)
14,000,0002 +2CH*13] 28,000
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A 2EXAS A
g dK]E Neote 22X =4
o SR AMEE 2Y & 2l (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OS+4 d2+J] M2 8,000,000& *14] 8,000
od-He) =FU 1,500&%10,000 £ »6& 90,000
O40Z &2 (HIIWH) 4,000, 000& *43] 16,000
O MR =2, B 50,0002 2004 10,000
OdHZI| Al HIHESE  1,500,000% 20K 2 3,000
OTAIZ 8 BZWHSA 24,000
OZEIDICIN 2 &bdl=+=cld| 40,000
O&AI2UY &2 WHSA
1,200,000 x84 £ 9,600
OHLZE S AIAE(UCC) &bl ==2ltl 15,000
Ol HAIAIE EHlz=cl
20,000, 0003 14 20,000
BHOAIE 22 359,523 339,576 19,947
101 Q1A 261,423 246,876 14,547
04 JIZAHZZ2NHESES 261,423 246,876 14,547
omE=g =23 57,534
oy 34,9103 x4 & »240L 34,771
Oxd2R=¢ 34,9103 »150%*4H «64 13,406
Orsmndsd 34,9103 x4 H #52 7,262
Og =< 34,9103 x4 » 156 2,095
oJlgss 29 URY 28,768
oy 34,9103 x2& »249& 17,386
OxdZR=¢ 34,9103 »150%*2H «64 6,703
OrsSsd=sd 34,9103 x2H x52 3,631
Oext=¢ 34,9103 «2EH » 15 1,048
OAYIY 2¢ ARY 43,150
oy 34,9103 x3H 240 26,078
Oxge2R=¢ 34,9103 »150%*3H «64 10,055
OrEsd=d 34,9103 x3H x52 5,446
Ogxt==¢ 34,9103 «3EH » 15 1,571
OHA 2l 2Y 14,385
o=y 34,9103 x 18 »249& 8,693
OFga2f=¢ 34,9103 »150%* 12 64 2 3,352
OrEsd=d 34,910 x1H »52 1,816
Oext==¢ 34,910 x1H »15¢& 524
OEI} HERA AR 43,150
ogRY 34,9103 +38 »249& 26,078
OFg2f=¢ 34,9103 *150%*3H 64 10,055
Ors5g=H 34,9103 x3H 52 5,446
O xt=4 34,9103 x3H x15& 1,571
O=EXY 29 URY 32,960
ogEY 40,0003 x2H 2492 19,920
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SA: BRIAYA
Hu: USRS ot 2B X4
OOl SIS HEBX ALE 29 2 B (Erel &2
. _ - ]Sl -
A -3 -H2A(SH) - HEAMY - BES O AF K '@E% Hos
SEPEET S, 40,0002 * 150%+22] <64 7,680
ORzELaY 40,0002 %224 x50 4,160
O Xtagf 40,0002 %224 x 152 1,200
0xgF mel oy 14,663
SLIEL 34,9102 %52 x60 10,473
OYaR2Y 34,9102 *150%+5 2 10 2,619
oRasYsy 34,9102 x5% x92 1,571
0A0IYAF 22 5,867
SLIEL 34,9102 %22 x60 4,190
OpYaR2y 34,9102 150%+22 10 1,048
ORIFELLY 34,9102 x2% x92 629
OFLIRX ALY 34,9102 150%+4Z 100 20,946
201 LBty 78,100 61,700 16,400
01 Ar222lH| 27,600 11,200 16,400
OHMEACIX SHSE 7Y 200,008 +*8S+63] 9,600
OMEEHX & TAIE| 10,0002 * 122 1,200
OOIAZH SHEE 7Y 400,0002! 55 2,000
OYAAIE I 22,0008 +4Z*5004*37H A 1,200
oUcC ZEX 7 200,000 *128 2,400
OOFA4+HE 22H0IC U2
4,000, 0002 *20H A 8,000
OOFA%=LE 424 TP  120,0002 105 1,200
OFHI(2aIQ, NHIYXE 1,000,008 +23] 2,000
02 222 50,500 50,500 0
CEEEEWEEIL] 5,000, 00021 x2A! 10,000
OEUI B
150021 %2 5km+ 1231 *1.5 £ *2CH*300 40,500
206 THEH 5,000 5,000 0
01 XHZH| 5,000 5,000 0
OOIAZH AE U W27
500, 0008 5523 5,000
401 AlEHIZ 20| 10,000 10,000 0
01 Al&H 10,000 10,000 0
OOFRA4HF HX L HH  10,000,0008 *14! 10,000
405 THAHE S| 5,000 16,000 A 11,000
SR EEEEE 5,000 16,000 A 11,000
oM 7 500,000 *10CH 5,000
2B S#BMA 289,935 242,297 47,638
101 Q124H| 106,989 90,194 16,795
SR EESEERS 106,989 90,194 16,795




SN BTG L
o A2g ol A X4
Cel SEERBA NS 2% o el (el &2
SH-EH . C(BH) - NRAY - BES Off &F oA glggi; bRz
OEHIIY MBI
34,9102 %62 * 152 x43] 2,568
OuFY oIpel 90, 000! %22 * 102 *43] 7,200
ospl ARy 58,453
LI 47,2909 *3% +2492 35,326
ORYDDLY 47,2002 +150%+3% 642 13,620
OR2FY+Y 47,2009 %3% x50 7,378
oot x4 g 47,2009 %3% * 152 2,129
osEA Bl 2Ry 28,768
SLIEL 34,9102 %2 x2492! 17,386
OgYaRLY 34,9102 * 150%2 %642 6,703
OR2FL+Y 34,9109 %22 x50 3,631
O xt4g 34,9102 %2 * 152 1,048
201 L2y 60,753 63,298 A2,545
01 ALR eIt 19,000 23,400 A4,400
oZEAFA £2E 2 14,000
0¥4 ¥ AT 7Y 5,000
2 BTS2 41,753 39,898 1,855
CEET=-I T 34,753
OARA 2 EA 2,47021 %9921 2,451
OB AIZH(100H2) 2,470 %11, 4221 28,213
OYHAE L HOAAS(7HA)
1,68781,675m 2,826
OBHE & (12042) 781%1%1, 164 910
OJIEHAI & 371245950 353
OF2I|, 0% S |SXel 50,0008 45 2,000
OS2HAT RX B2 250,0008x55+43] 5,000
206 MR 78,193 49,205 28,968
01 T2l 78,193 49,205 28,968
0% 2 10000021 x5 *102] 5,000
Syl 2 HI2TY 5,000
OS0AEE AT HHTY 3,000
ASSA ARPY 25,0002 +7E 55128 10,500
CEELT] 30kg+ 1,000 *35 * 122 1,080
CELELERES L
1,0002 %10, 0002 %23 20,000
OFAXY Y YSFIINHTY 13,000
OJ2S 2 ZAUS BEIY
25,0002 +2897} *1/23] 3,613
OZYEIAE BT L 4FI| 7Y 1,000
ONSHFMHI £2F 2
750, 0002 255 *8IH 2 +1/23] 6,000
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SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
307 2I2+0IH 42,000 39,600 2,400
05 DI2tSIEr2 42,000 39,600 2,400
CEPNE-IEIE=1 3,500,000 * 122 42,000
405 X+arE S| 2,000 0 2,000
01 XYL SEFH S| 2,000 0 2,000
OUFI L HISS 7Y 500, 000! *4CH 2,000
BEX F4 10,536,000 3,319,959 7,216,041
= 682,000
=l 3,500,000
| 300,000
= 1,284,600
2 4,769,400
SERAZR L 5,570,000 1,615,000 3,955,000
=l 2,660,000
= 778,000
2 2,132,000
401 AEHILS ] 5,570,000 1,615,000 3,955,000
3 2,660,000
= 778,000
2 2,132,000
01 Al&| 5,540,000 1,600,000 3,940,000
ogsZABI Iy 4,490,000
3 2,260,000
= 678,000
2 1,552,000
OBES XA EHA (4D) 800,000
=l 400,000
2 400,000
OLEEAZX ASSBLFIIIAA 50,000
ODHZENHAAT RIS HE UL &2 200,000
= 100,000
2 100,000
03 Al&SOHH| 30,000 15,000 15,000
oL TN g 30,000
SUE ZEUNE S 1,680,000 0 1,680,000
3 840,000
= 252,000
2 588,000
401 AU 20| 1,680,000 0 1,680,000
= 840,000
& 252,000
2 588,000
01 Al&l 1,675,000 0 1,675,000
OB RBUNRSAT AT 1,675,000
=l 840,000
= 252,000
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p 300,000
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p 300,000
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A X AIE A
HH: U22 NEsls A F4
ool el EE e (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
04 JIZHMZ2=Zz NS 11,033 10,395 638
OZE2&d FAA2 o2 11,033
(@)eIR=-32T 34,910& 12 *249 8,693
(@R =a=2=4c1] 34,910& x 1Y »52 1,816
Od X< 34,910& x1¥ » 15 524
401 AEHI Y20 50,000 50,000 0
01 Al&H| 50,000 50,000 0
TAM I AIEZ FHY| 50,000
SElLICtsgd dX29 139,118 122,978 16, 140
SElLiclsg2 29 139,118 122,978 16, 140
101 ol 24| 28,768 26,928 1,840
04 JIZHMZ2=ZzAsSE s 28,768 26,928 1,840
Osga 22X 2182 28,768
(@)eIR=-g2T 34,9103 »2H *249 17,386
Osd=22sd 34,910& * 150%*2H x64 6,703
ORssdY 34,910 x2H x52 3,631
OHX=& 34,9103 x2H =15 1,048
201 B3| 77,850 67,550 10,300
01 At22telyl 1,450 1,250 200
OAlZ& MY SEFEY 1,250& *2000H 250
OARY &HZF 22 12,0002 *10=*10H 1,200
02 s394l 76,400 66,300 10,100
oHyE g&31¢ 1,550& x2402| E{ *200L 74,400
OAlA& &Yl |X | 400, 000& x524 2,000
206 T2l 12,500 12,500 0
01 TH&Hl 12,500 12,500 0
o2AE AE7Y 5,000
OEfH & 2E+7¢ 15,0002 *2Z* 100 3,000
ogsof ¢ s 20,000& x7&5*15YH4 2,100
OAMEMHE S2H & HEzF2
12,000 4 5 x50 2,400
307 QIz2to| A 20,000 16,000 4,000
05 QIZHREZ 20,000 16,000 4,000
O=sg& s&= MUi{E 20,000
Y E=XH 3,337,097 2,936,465 400,632
= 1,272,000
= 1,381,600
iy 683,497
eetoh Y ExX M 3,337,097 2,936,465 400,632
2 1,272,000
== 1,381,600
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SN BBTAYA
Mo YU EREY
ol B0 YEEIY (649l &2
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; Hws2
= 683,497
S T Ot LIAI & XA 2,044,000 2,103,500 A59,500
= 1,272,000
= 381,600
2 390,400
401 AlEHIL LT 2,044,000 2,103,500 59,500
= 1,272,000
= 381,600
2 390,400
01 Al 2,085,000 2,093,500 58,500
OYBTHYOI2ILIAIE T4 2,035,000
= 1,267,500
= 380,250
2 387,250
03 Al&SHHI 9,000 10,000 A1,000
OYBTHYOI2ILIAE T4 9,000
= 4,500
= 1,350
= 3,150
ez NENH 10,000 520,000 £510,000
201 Y2 Y| 10,000 20,000 210,000
03 A2 HI 10,000 20,000 210,000
OUEeIR 2WLEUN ELRA 2% 10,000
WYY EERY 233,007 312,965 79,868
101 Q11| 92,647 104,515 A 11,868
04 JIAHIZNSES 92,647 104,515 ~11,868
OSSR Qe 35,269
ool 96,8902+ 1% %252+ 122 29,067
ORIEL+Y 96,8901 + 1% %522 5,039
O R4 96,8901 1% * 12 1,163
oSN =Y 51,317
Oolsy 70,4902 x2 % %252+ 122 42,294
ORSIEL+Y 70,4902 x2 % %522 7,331
=P 70,4902 x2 % * 122 1,692
04t 282 6,061
O=plei3Rga 71,361,002 %45/1,000 3,212
oMTEEE 71,361,0002 %6/ 1,000 429
ong=se 71,361,0002015/1,000 1,071
OAYBEE 71,361,000+ 18. 15/1,000 1,296
OFIIYRHE 1,296,002 +4.05/100 53
201 Y2 Y| 96,000 89,000 7,000
01 AL/t 86,000 80,000 6,000
OAZHRE Yt 1,500, 00021 2% » 122 36,000
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SN CR(EH) - NRAY - BES 01l &k o e HRE2
01 AtSR22/Hl 71,936 53,686 18,250
oget=8gHl 71,936,000& 71,936
o4 dl 76,320 76,320 0
202 O4dl 76,320 76,320 0
01 =Wl 76,320 76,320 0
OJ|l=zdR=—HNH 200,000 «24H 128 57,600
O=3U=&HI 65,0003 x24Z 122 18,720
Heags (XA L) 52,500 0 52,500
SEXS(2ZXAE L) 52,500 0 52,500
S I L0 LIAIE E A SAtac3ae 52,500 0 52,500
311 ML= 0IAtaE 52,500 0 52,500
02 Al -2 - RXANLIIS XS0l Ktk 52,500 0 52,500
O ZoidOtelUHAIEZEGAY Xz Ol A4
=) 1,500,000, 000 *3.5% 52,500
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